Quiz 19.2C

Three charges are arranged in the distribution shown below. Charges g and q3 are
fixed in place and do not move. g2 is a small ball with a mass of 32.0 grams, and it is

initially at rest.

Q1 =-1 52 IJC

38.0cm

v

q2 = '2.15,.IC

a) What is the voltage at the initial location of q27?

b) An applied force helps move g2 to a location at the midpoint between charges q1
and q3. When q2 arrives at that location, it has a speed of @@ m/s. What is the
voltage at this final location? (.22

¢) How much work is done by the electric force as q2 moves to its final location?

d) How much work is done by the applied force as q2 moves to its final location? ‘)
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